Oo0o 14ggd 5 gooon

00 5.1. (X,M,p) D0000,YOOOOf:X—-YOOODO

(1) N={AJACY,f(A)eM}D 0000000000000

(2) AeNDOOD v(A) =u(fY(A)0000000000 (V,N,v) O
gboobogoogooobod

(3) (Y,N,»)0 0-00000 (X,M,x)0 ¢-0000000000000
gboboogoobo

4) (X,M,n) 000000 (Y,N,») 000000000000

(5) X,y 0ODOOOOOO f0000000B(X)CMOOO0 B(Y)CN
gooo

(6) (5)000000O00(X,M,u)0 BorelDOOOO (Y,N,v) O Borel
gboobooogn

v0O f000 p00000000v=pof20000 000000

00 5.2. ([0,1],8([0,1)),) 0000000 0u([0,1]) <4+cc 000000
000 z€0,1]00000p({z})=000000000000000000
(1) 000 z€(0,1)0000¢>00000 x000000 U0 uU)<e
000000000000000000

(2) 000 e>00000 [0,1]0000000 00 u0O)<eOOODOD
000000000000

00 5.3. (X,M,p) 0 c-0000000000000 z€ XOOOO
{(r}emMOOO00
(1) UeMDD uU)<+00000000

Yun = A{zlr € U p({x}) = 1/n}

00000000 neNOOOO Y, 00000000000000
2) {zlze X, p({z})>0}0000000000000000

00 5.4. (X,d) 00000000000000000000(X,B(X),u)
00000000 uX)<+00o 00000000000 e>00000 X
0000000 000000u(0)<e000000000



